1. Read and complete the text with the missing information below.
a) 1.7 million people

b) 5,000 litres

c) 50 billion plastic bottles

2. Read the text again and match the questions with the correct answer. There is one extra answer.

a) What similarity did Michael see between the effects of the Indian 1) Humanitarian, military and leisure.
Ocean tsunami and Hurricane Katrina? ........... 2) The user’s hands.

b) What does the Lifesaver filter remove? ......... 3) Expense and flavour.

¢) What powers the Lifesaver bottle? ........... 4) Shortage of clean drinking water.

d) What problems are there with water-purifying tablets? ........ 5) Dirt, viruses and bacteria.



